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class FOO
1: INTEGER
increment_by_ 9
require

i > 5

do
i = 1 + 9
ensure
i > 13
end
end
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class FOO =
i: INTEGER Q) S 1A} = Q=wp(S,A)
increment_by_ 9
0. 1z2
e’@ @
S
N 4‘
end wp( T 9. =3 C |
£+ E’M’Q"#WP 37::(‘3 :[L7A7L

& @i [O- 4891 = 1>

o\



(?%%mmtzhaﬁws=gtwﬁe @

class FOO
i: INTEGER
increment_by_ 9
require

1 >‘§
do

nsuare—

{Q) S{R} = Q= wp(S,R)
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WP Tles

wp(x := e, R)=R[x:=¢]

B = wp(Sy, R)
wp(if B then S; else S; end, R)=| A

wp(S1 5 Sz, R) = wp(Sy, wp(Sz, R))
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Q) S{R} = Q= wp(S,R)

{@}x := e{R} — Q= R[x:=¢€]

S —
wp(x := e,R)

A

({QAB}&{R}
{Qr-B } S {R}

{Q}if B then S; else S, end {R}

(@A B) = wp(Sy, R
— | A
(Qr-B) = wp(Sy, R)

{Q}S1 7 S2{R} <= Q= wp(S:, wp(Sz, R))

Wp(S1 7 827 R)
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ferves & Trgon fondionals

Is this program correct?

{<>0/\y9}
i > y then

bigger := x ; smaller :=y
else

bigger := y ; smaller := Xx
end

{bigger > smaller}
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Is{ True } tmp := x; x :=vy; y := tmp{ x>y } correct?




